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Total No. of Questions : 48 + 28 = 76 Total No. of Prizted Pages : 20
(777 : 262 45 5=32) (T=% 80
[ Time : 2 Hours 45 Minutes | [ Full Markes 50 )

wREa & o7 G2

Instructions for the candidates :

. SO QUG ¥9d IR 5 A I 7
Candwdates are required to gue ther ansuers in ther oum uords os for oo
practicable.

Figures in the nght hand margn indxcate full marks

3. ¥R NI ¥ GEEE W39 F 9T wWamew ¥ 15 552 & 5ETE s=T S
ar &
15 minutes of extra time have been aliotted for the candidates 1o read the quesnons
carefully.

4. I% 93799 3 G § &, Wv-N 0T GAVE-q/

This question paper 1s dunded into two sections — Section-A ard Section-B
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s wvr-wd geafe om b R w0ors W T b TR E

1 ¥% B b & B wwe 3 407 3w S T IR ET A T A0TT @
Wnﬁmm:WWM'mme-m‘*?W”’P
w #—r,-mraczsznh&mim/"m'“*/'"{w
ot 7 aum 797-9¥E § git €T T §, WET GONT OFYIH W9 0
In SectionA, thers are 48 objective type questions. cut of uhch cmy
40m‘m:mwt¢m1{amm:mmﬂl"‘-’l’“ﬂﬂ‘oqﬂﬂ'«l’r\:
then answers of first 40 questons well be evaluated only Each Queston carrey
1 mark Darken the crre wwh biue / black ball pen agamnst the comect optor o,
OMR Answwr Sheet provaded 1o you. Do not use whitener / liquid / blade / naf)
etc. on OMR Answer Sheet; otherwise the result will be (nsalid

6 @vF-x ¥ 28 AY TR oy 1 A 8 A WA STER ¥, 790 TR RO %
@ 757 T fawm ¥ }) s<w fawe (Ve rA, R B @ %A far) 5
T eI e e AR aww A ki 1A AT may §
sOv A sR f mm f fs & s WiFw area &, 29 TRIGT 7rea &
cd 2 BV AT fawT # # s arem & 0% 3907 59 BT 6 WE, ravey
wrey 3 a7 A F BT s dw BT b 5w fawe (vfAw ma, TR nrer
T 7 fIw) 7 U%-U% °FF &7 I T seaw ki
In Section-B, there are 28 short answer type questions. Out of these, eight

questions are from Phgsics, seven @Questions are from Chemistry and seven
Guestions are fromm Biology Four questions are o be answered from each subec:
Physics, Chemistry and Blologyl Ecch gquestion carmes 2 marks Apart from
these, there are 6 Loag Answer type Guestions in wihach two Questions each from
Phygsics, Chemistry and Biology are there. Long Answer type Questions from
Physics cames 6 marks cuch, and from Chemistry and Blology carmies S marks
each. Answer of one guesthon cach from Physics, Chemistry and Blology s
compulsory.

7. [ow S0 & FHRhAe I W S AT @A ki
Use of any electronic apphbances s stnctly prokubided.
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o7 o 1 R 48 7% wRyfre mA &1 poi @ AT 40T 8T 3T £ 1 g ey
& sre arr frew feo o § Frd & ow w1 S0 AT 93 0wl fawes &t ok
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Question Nos. | to 48 are of objective type

correct. You have to mark your selected option on

=4r ﬂpnﬂﬂ.‘ oul o u'thh mfy one s
40~ | = 40
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WYY - ¥ ; BECTION - A
I‘F]f-‘l‘ﬂ U¥A / Objective Type Questions

the OMR sheet.

| ]

¥z @ Crafatya | fed o A R 7

) fna _D) fage itk

Which of the following is measured by ammeter ?

(A} Current (B) Charge

(C)  Potential (D)  Electric power

T 3TET A faga S @ aifE A § avern 8, e d

A AT By faga =z

(c] HArE 3 fawa Wi g D) ¥ ® PR A

The device which converts clectrical energy into mechanical encrgy is
(A)  Generator

(B) Electric motor

(C) both Generator and Electric motor

(D)  none of these

401 =40
Answer any 40 questions. Each question has

3 TmE e
1,11 1_ 1.1
_‘I’“ u+u f (B) v u f
1,11 L,1.1
S 7ty U AT
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Mirror's formula is
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111 1_1.1
N T B vTuTy
1,11 1,11
(C) i tom (D) f v u
4 ﬁnq&ﬁwﬁ!ﬁmﬁ-‘fﬂaﬁm&a#mmm% ?
IS AT (0) AR
Which of the following lens is used to remove short sightcdness ?
(A)  Convex (B) Concave
(C) Bifocal (D)  Cylindrical
5, TamatE afufrar i v o am oEnd F w0 A e
A AfvEnE B) IR
€ HfvERs @ 3w 2 0) ¥ & g T
The substance which takes part in chemical reaction is called
(A) reactant (B) product
(C) both reactant and product (D) none of these
6, PWRIWmAME?
(A) AT By Mg
€ A D) & &9
Tooth paste is
(A) acidic (B) basic (alkaline)
(C) neutral ‘ (D)  all of these
[212) C (7038-C 3 Page 4 of 20
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7. Fefataa 0w oy o e}

-
(A} TEET By w0
Acy” v (D) STarEH
Which of the following is a good conductor of electniaty ?
(A)  Sulphur (B) Chlonne
(C)  Graphite (D) lodine
g. FPrafefua 8§ af waifera mw b 2
(Al ~CHO By »>Co
ACI - COOH D) -0-
Which of the following is a carboxyl group ?
(A) =CHO @ »CO
(C} -COOH b -0-
9. fragwm wA &
(A} dEAWH B AR H-
(€ v-afwm aw | D) ¥R A&

Switches are sct
(A)  in cold wire (B) in hot wire

(C)  in underground {earth) wire (D}  in all of these
100 A ddaR smisvRFA T IR TS 2
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~Ar AR B) W
) wmg D) WFfw A
Which of the following is not the source of non-renewable energy ?
(A)  Petroleum (B) Coal
(C) Biogas (D)  Natural gas
[212] C [7038-C ) Page 5 of 20
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1y, wpa g B o ft wwifun k2

”
(A) Mo () M
) uftaga (D IROH
To which of the following is human kidney related ?
(A} Nutrition (B)  Respiration
(C)  Transportation (D)  Excretion
PR st AR i
A)  ufs (B dfrw
© Ny T
What is found in hydra ?
(A} Brain (B) Nerve
(C) Mouth (D) Tentacles
13, wE @) Rt mm o &
Ay uRmmd @) ot i
€ fawd «t fem o o) A Wt T
The rays of light travel in
(A)  straight line (B) oblique line
(C) any direction (D) none of these
14, Fefafaa 3 13 a0 ) ama & s k2
A = B U
T 1 £211X Vg D) 3
Which of the following is the unit of power of lens ?
(A) joule (B) watt
(C) dioptre : (D) erg
[212] C |7038-C 1y Page 6 of 20
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frm {0 w1 faaEm =pam gt 2

15,
ay am By N
) e (o) A
The deviation of which colour is minimum ?
(A) Red (B)  Yellow
(C) Blue (D) Vialet
16, A8 @ fvm wwr W a9 w7
(A)  TEmEdr um gy~ fr= w7
© (A ¥ (@) A o) v A &
Which type of current is obtaincd from a battery ?
(A)  Alternating current (B)  Direct current
(C) Both (A) and (B} (D)  Nonc of these
17, farm 3ufRaf ¥ & o gn @A R 7
http://www.bsebstudy.com .
JAT  FARIwE B faswrere
(C) EIEIRN D) ¥W A & A
The green colour of plants is duc to the presence of
(A)  Chlorophyll (B) Leucoplast
(C)  Phytochrome (D) nonc of these
18. Ot o Il WS @
Ay TR B) <A
N (D) TEITH
Excretory substance in plants is
(A) Gum (B) Tannin
(C) Resin (D) all of these
[212] C |7038-C 13 Page 7 of 20
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et g a1 Byt P 3w ot fra T 7

19.
A TWORT (B) IWES
(€ AwE (D)~ AT
In which state is Tchri Dam constructed ?
(A)  Uttar Pradeah (B) Uttarakhand
(C)  Rajasthan (D) Madhya Pradesh
20, Fretfefan § fewd @ro s adt @4 @ 2
A €O, .(B) SO,
€ co ' JD ch
Which of the following causes acid rain ?
€ C€Oo D) CL
21. ®f Aa-wqa & faw w0 & aifem A ¥
(A) TE (B) THHI
©, (D)  FIEE
Ultimate source of energy for all living organisms is
(A)  Planet () Moon
(C) Sun (D) Coal
22. fempdfem M Ay o & 2
(A 2 (B) 8
(© 10 | DX~ 6
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How many patrs of apiracies are found in ¢ kroach ?
(A) 2 oy 8
< 10 o) 6

23, T EvET @ e

(A} FUF B (B) !"_TIHT i
(G- ' R (D) wetaat |
Photosynthesis takes place in

(A) Fung (B)  Animals
(C}  Green plants (D)  Parasites

24 WAUR FAEW TR FEFEE F U@ gk

wod Apnysqasq mma//:dny

(A) TEHEFA & FWH (B) WRM & & 8

(C) ERAFFIH (D) HFAFEFIH

Transportation of carbohydrate through phloem tissues takes place in the
{form of

(A}  Glucose (B) Fructose

(C) Lactose (D) Sucrose

25, FEAEIN 2H, + 0, -+ 2H,0 ¥ W&

ay T sfwfEm B) oo sfvfirg
(C) 3w Fufwa (D) JeTEHIERY JfvfEa
Equation 2H, +0; +2H,0 isa
(A) combination reaction (B) decomposition reaction
(C)  precipitation reaction (D)  necutralisation reaction
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26, TR & Tt g befefan d e ko)

(A} C,H4OH (B)  CeHgOp
G} CeH 10, (D) CeHy
Which of the following is the chemical formula of glucosc ?
(A}  C,HOH (B)  CgHeOq
(C)  CeH, 30, (D) CgHg
27, ®ifzan & T W &
B 11 B) 14
(C) 17 (D) 20
The atomic number of sodium is
(A} 11 (B) 14
17 (D) 20

28, S i s v S d d 2

A) TR By 3iniEw

(C) WawR (D) Ut

Most of the nutnition in an amoeba is

(A)  Herbivores (B) Holozoic

(C)  Omnivores (D)  Autotrophic

29. 3Ed RO F wuT A F W A i

AQ A U B) i
(C)* &R vy D) fay vy

The clement of first group of the periodic table is
(A)  acidic metal

(B) inert gas
(C) alkaline metal

(D)  alloy

[212]C (7038-C i3
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frarfatn 1 Y7 oyt wane i k2

(Al 5T By A

) f oy ¥
Which of the following is not a natural resource ?

(A} Air (B) Water

(€1 Sail (D}  Organism
qwT & g & feed B k)

Ay 1 Jpr 2

(Cr 3 o) 4

How many laws are there of reflection of light ?

a1 M 2

iC) 3 (D) 4

il ® g o fE o R

(A) &N F w9 A B) A& FUH
() ufimmy & w9 A dmfgi:w

Wavelength 1s gencrally expressed as
{A]  candela (B)  joule

(C) ampere (D) angstrom

frfataa 1 fea urq @ FER 3@ T aa R 2

(A)  FE (B) ®

IS e b fofawa
With which of the following metals is solar cell made of ?
(A) Zinc (B) Gold
(C) Plaunum (D) Silicon

[212]C |7038-C (1)) Page 11 of 20
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34. faefafga g w s ¥ 2
(A) HCl (B) NaOH
(€)  K,SO, (D) NH,OH
Which of the following is a salt ?
(A} HCl (B) NaOH
€)  K,S0, D] NH,OH
35. fofefma & van vt v #1322
n fafemm B gifaum
(C) &ﬂm (D NaiA
Which of the following is the heaviest metal ?
(A) Lithium (9 Uranmium
(C) Cesium D) lron
36. TR % U v ° e wedtwrew v by
(A) 2 B 4
€y 6 oy 7
How many covalent bonds are there in one molecule of ethane ?
(A} 2 B 4
) 6 oy 7
37. et e g wm A & 2
A)  IOUE B) 9% TR
() ¥ () M
Which is called chemical messenger ?
(A}  Stimuli (B]  Digestive juice
(C) Hormone (D) Impulse
[212 ] C (7038-C ay Page 12 of 20
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8, % SRR F wra’ A e e A Y )

JArT TR B TEE

(€) D) TEEE

Who wrote the book The Ongin of Species’ ?

(A} Darwin (B} Lamarck

(€1  Opann (D} Wemsmann
9 R ifTaoum s orn & oa s st o

(A)  Fg B) T

() &m oy frra

In which of the following media is the speed of light maximum ?

(A) Glass (B) Water

(C) lron (D) Vacuum
40, MR ® s 9w g R

A) T By T

(C) T D) &=

S.1. unit of potential difference is

(A) coulomb (B) volt

(C) ampere (D) ohm
4], NI INFTATEAAE 2

A) FNH B T3

€ = Npr FHF
[212 ] C [7038-C 113 Page 13 of 20
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Where is reproductive crgan found in plants ?
o0l s
Y In stem (B) Inr
fruit

iCl In Nower ) Infr

.- 3 L . ' - H la f JIT m
42 mqmmqrﬂmtmnmfmw"”””‘ /

(A) o ® T

(C) =2 D) T SELL

. : ics 7

Which plant did Mendel usc for his cxpenments in genclics

(A} Neem (B) Rose

(C)  Pea (D} Chrysanthemum
43, aftfedawt d3 7 3 @ v fEw m A g k 2

YR ot at: @) fafzema

(C) w=AN oy fwa ot R v @

In which direction does encrgy flow in an ecosystem ?

A} Unidirectional (B) Bidirectional

(C)  Muludirectional (D)  Non-directional
44, AR A ara A R

(A)  AgEIA & froet waw § (B) TYHETA & I TAX A

(C) AYHIA F WA FAE | (D) ¥AR | * T

The ozone layer is found

(A) in the lower layer of atmosphere

(B) in the upper layer of atmosphere

(C}  in the middle layer of atmosphere

(D)  nonc of these
[212 ] C |7038-C ay Page 14 of 20
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‘5 'hn :‘ |01v|.
. ARIRAKICR-C R SRR g
(AL—TY
A B 7
)

o) Zr

By wh
Y Which of the following gases are exchanged in plants ?
(A) Slﬂmn[ﬂ

() Stem

(B) Roots
(D} Shoot
46. P H ¥R {1 g v S g ?

tA] m _+B’ L 4

€ e (D} HEH
Who has the fastest heartbeat ?

(A} Whale (B)  Rat

(C)  Elephant (D) Human

47. T A T R0 ven # angr v (F) @1 76 6 7
http://www .bsebstudy.com
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(A) 3t B TE A
© (D) ¥ R 8
Which type of nitrogenous wastes is excreted by living organisms ?
(A) Ammonia (B) Unc acd
(C)  Urea (D)  All of these
48. ATF AT F [WATKF U FOF 198 @ FEA B
\t¢r"' Eeac] B
L (D) ¥ q 3 A
The structural and functional unit of nervous system is called
(A) Nephron (B) Ncuron
(C} Cerebrum (D} nonc of these
[212 ] C |7038-C u3 Page 15 of 20
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7YY - ¥ / SECTION - B
vifaw wTea / Physics

AYq TATIT UTA / Short Answer Type Questions

m#m:#annqm;,neﬁf.ﬁ4wqftmirmm&&v
2 3w fraifra

C)"pq"rm 5‘0‘ !l to & are ‘p'u" Ansuer Tbrw Ansuer any d qllt'jfiﬂ"l! E‘Cl('h uestinn

carries 2 marks

MG o g b ) ow e oim @ ween fomn 20 cm B A GEE) B of

w®k

‘l:-.

‘i:-A

4

What is sphencal mirror 2 What is the focal length of the sphencal mirror whose

radius of curvature is 20 ¢m ?

http://www.bsebstudy.com

2. I Aa e sfuard o e e mm b ) 2

Why is convex lens called converping lens ?

. geimwmk yurfemiserwemt ) 2
What are the defects of vimon ? What are its types ?

4 WHyEmwmimAmaient ) 2
Why is the colour of clear sky blue ?

5. fwwt e w oA fes et o Bt wan k) 2
On what factors does the resistance of a conductor depend ?

6 fagqa uizg o faws oeo W w gEE 2
What is the role of split-ring in an electne motor ?

7. v vl fRe v § s aad 2
Distinguish between alternaung current and direct current.

g, 3w & Fam W fe 2
Write Ohm's law.

[212 ] C |7038-C ux Page 16 of 20
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i Ty / Long Answer Type Questions

mm'gﬂ( 10414 7117 wpr b, gt &t fadh oo @1 T &1 wRE VT & fAU
6 3% frutfear }y

J 6-68

p LA i
Question Nox 9 and 10 are Long Ansioer Tupe questions Answer any one of them Each
question carmies 6 mark s ] =06
9 g s ey g ST arrw ) ferg o wm & B @) w1 WET 6

Wnite >
the 81 units of resistance and potential difference Explain the

venfication of Ohm's law

10 tret @y @nm g 0
a) WA im @ g pand o % #7 8 wa fem o k7

b)  IE e rmmarry o & s g v wm oA b )

¢ WA i TR e g ) e fem o k)

Explain (he reasons of the following

al Why is concave mirror used as shaving mirror ?
b) Why is convex mirror used as side musror ?
<) Why is concave murror used in solar cooker 7

TRIGA N / Chemistry

H‘!Wﬁ’ﬂm / Short Aaswer Type Questions
oy WO 118 177% Ay IA0T ki pd @ AT 4 0t & T &1 e mr & fy

Question Nos. 11 to 17 are Short Ansuer Type. Ansuer any 4 questions. Each question

cames 2 marks. 4~2-8

1. fry sffFma & fem diafea Taaias wRreTs R0 o1

a) faw o faeay agzz - T g2 .« foem

b WIZH « AR _, WETT OVFES « FAA

[212] C [7038-C i3, Page 17 of 20
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Write the balanced chemical equation for the following reactions

Al Zine » Siher nitrate -» Zinc nitrate ¢ Silver

[
bj Sodium ¢ Water -» Sodium hydraxide « Hydrogen

12, wfgm wEtAz w1 Awe famaa ardi e kw2 .
The aqueous solution of sodium carbonate is alkaline. Why ?

13 wfa oo ud wgwe & dta @ e & 2
Wnite two differences between mincrals and ores.

la WS g w7 !

Why does carbon maunly form covalent compounds ?

15 W‘“‘“”I“mhwz.s.ft.ﬁrmmﬂﬂlﬂf{ﬂ“‘““ﬁ*"’ﬂ‘-
ool A 2

What is the name and atomic number of the clement having clectronic

configuration 2, 8,7 ?
16, @R 3 Ufw & 79 & wg stufEw & fay wdiw f@fa 2
Wnite the equation for the reaction of Plaster of Paris with water.
17. T3 WO & A FXN HGEE € ? 2
What steps arc important for forest conservation ?
¥ IAT U / Long Answer Type Questions
o¥T WEaT 18 UG 19 e e &1 yAF ® fawt vw w7 IA¢ T O}® WT & A
s 3w fraifta &) 1x5=S

Question Nos. 18 and 19 are Long Answer Type. Answer any one of them. Each question

carnes S marks, ]1x5=5
18, WSO F ¥ 2 UE QRE # faw v ek 2 S

What is saponification ? How does it differ from esterification ?

[212) C [7038-C a1y Page 18 of 20
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19 FERIT I ow e el

>
.|
W TEEyp (a)
W EwEp (bt
() TRT BAT (]
m T e i)
v Pram el
Match Column-l and Column-ll
Columa-I
(1) Baking soda ja)
{a) Washing soda (4
() Globar salt i)
(i Blue vitnal ()
vl Gypsum e}

cames 2 marks

Ll 8
CaS0,.2H 0
CuSO, SH,0
NaHCO,
Na,CO, 10H,0

Na,SO, 104,0

Colama-I1
CaS0O, 2H,0
CuSO, 5H,0
NaHCO,
Na,CO, 10H,0

Na SO, 10H,0

Wa fa@r= / Biology

H'!'ﬁffﬂmfsnon Answer Type Questicas
TFT #OT 20 % 26 A% AY TG F1 yI & oA 4 5A1 & TA0 &1 5} OA & AV
2 %% fraffea i

Quesnon Nas 20 to 26 are Short Ansuer Type Ansuer any 4 questions. Foch question

2  EW EFT R b ) TEE (RREE SR o |

'd

What is photosynthesis ? Wnite its chemcal equation

21, N9 U F | % & K o

Write any two differences between resprration and combustion.

i

4x2-8

‘lz-s

3
-

L)

[212]C

7038-C i1
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26.

o¥y WoT 27 04 28 3G IWAT

http://www.bsebstudy.com

- - femd o 2
e 8 oo it % vzw anaa A k2 fad A vz i

beings 7 Write the

, in human
What are the components of the circulatory system in

funcuons of any two componcnts

A @) aftwen &1 IR T @ E 7

Define excretion. What are excretory products ?
Ft & et e & R 7

; . ' ?
How does chemical coordination take place in animals

e — R LR R R

' : { ison 0 asexual
What are the bencfits of sexual reproduction in compan

2

reproduction ?
o & sz wt o fww ¥ ?
What is the role of decomposers in the ecosysicm ?

Eid I W / Long Answer Type Questions
hnﬁ#ﬁrﬁwmmirm;m&rav

woo Apnisqasq mmm//:dny

- [ 1 X 5 - 5
s s fraifra &1 |
Quesnion Nos. 27 and 28 are Long Answer Type. Answer any one of them. Each question
1x5=5
carries 5 marks.
07 i w1 Fwior od s R s e ? 5
How does formation and depletion of ozone take place ?
28. qmmmmﬁfmmﬁﬁm#mﬂfmmh 5
With the help of an experiment show that chloraphyll is esscnual for
photosynthesis.
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